Geometry — Unit 2 Practice

Translation Intro
G.CO.A.2

1) Translate point A to point A’.
First, graph the point (-3, 5) and label it A. Now, graph the point (2, 4) and label it A”.
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Describe the movement from A 2A”.
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Now translate a whole triangle:
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How do the coordinates from A change when they go to A™?

Fill in the blanks: A 2> A’
(_3r 5) 9 (_3+_r5_ _)

Graph and label the points A(-3, 5), B(-6, 2) , and C(-2, 1).
Graph and label the points A’(2, 4), B’(-1, 1), C’(3, 0).
Describe the translation of AABCto AA’B’C”:

A

Y

How do the coordinates from the points in AABC change when the
is translated to AA’B’C?

3) Translate AXYZ, where X(-5, 2), Y(-4, 1), Z(0, -3).
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First, graph and label A XYZ.
Next, translate AXYZ > AX’Y’Z’ by the rule:
add 3 to the X value, and subtract 2 from they y value.

This is written as: (X,y) > (x+3,y—2).

Graph and label AX’Y’Z’ by the rule: (X,y) > (x+3,y—2)
Write the points for AX’Y'Z"
X, | — ), Z(___, )

Did the shape of the triangle change?
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Practice — Unit 2 (cont.)

4) Translate A QRS, where Q(4, -3), Y(-1, 0), Z(2, -5).
Graph and label A QRS.
h‘“ Now translate AQRS > AQ’R’S’ by the rule:
subtract 4 from the X value, and add 3 to the y value.

X Graph and label AQ’R’S’ by the rule

, Fill in the blanks for this translation: (x, y) — (X Y ).
b 5 L B Lol 1 234 35 ¢ Write the points for AQ'R’S”
Q' ) ), R (L, ), S (L, )
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4 Did the shape of the triangle change?
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5) If you were asked to translate ALMN > AL’M’N’ by the rule: (x,y) > (Xx—5,y+4),and Lisat (a,b), Mis
at (c,d) and Nis at (e, f), how would you write the coordinates for AL’M’N"?

L, VM, ) N (____ )

Using words, describe the translation that would be made by the rule: (x,y) — (x=5,y +4)

6) Using words, describe the translation that would be made by the rule: (x,y) - (x+9,y-3).
(How would this change the position of a triangle?)

7) Using words, describe the translation that would be made by the rule: (x,y) - (x-1y+0).
(How would this change the position of a triangle?)

8) Using words, describe the translation that would be made by the rule: (x,y) — (x+6,y-2).
(How would this change the position of a triangle?)
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